

Calculations of n th derivative of
some standard functions :-

(i) Let $y = (ax+b)^m$

$$\Rightarrow y_1 = m \cdot (ax+b)^{m-1} \cdot a \quad \left(\frac{d}{dx} x^k = kx^{k-1} \right)$$

$$\Rightarrow y_2 = m \cdot (m-1) (ax+b)^{m-2} \cdot a^2$$

$$\Rightarrow y_3 = m(m-1)(m-2) (ax+b)^{m-3} \cdot a^3$$

Similarly, we have

$$y_n = m(m-1)(m-2) \dots (m-n+1) (ax+b)^{m-n} \cdot a^n; n \leq m$$

$$y_n = \frac{m(m-1)(m-2) \dots (m-n+1)(m-n) \dots 2 \cdot 1}{(m-n) \dots 2 \cdot 1} \cdot a^n (ax+b)^{m-n}$$

$$y_n = \frac{1 \cdot m}{1 \cdot (m-n)} \cdot a^n (ax+b)^{m-n}$$

which is required n th derivative.

(ii) Let $y = e^{ax+b}$

$$\Rightarrow y_1 = e^{ax+b} \cdot a \quad \left(\frac{d}{dx} e^x = e^x \right)$$

$$\Rightarrow y_2 = e^{ax+b} \cdot a^2$$

$$\Rightarrow y_3 = e^{ax+b} \cdot a^3$$

Similarly, we obtained

$$y_n = e^{ax+b} \cdot a^n$$

$$\Rightarrow y_n = a^n \cdot e^{ax+b}$$

which is required n th derivative.

(iii)

$$\text{Let } y = \sin(ax+b)$$

$$\Rightarrow y_1 = \cos(ax+b) \cdot a$$

$$\Rightarrow y_1 = a \sin\left(ax+b+\frac{\pi}{2}\right)$$

$$\Rightarrow y_2 = a \cos\left(ax+b+\frac{\pi}{2}\right) \cdot a$$

$$\Rightarrow y_2 = a^2 \sin\left(ax+b+\frac{2\pi}{2}\right)$$

Similarly; we obtained

$$y_n = a^n \sin\left(ax+b+\frac{n\pi}{2}\right)$$

which is required n^{th} derivative.

$$\left(\frac{d}{dx} \sin x = \cos x\right)$$

$$\left(\text{As } \sin\left(\frac{\pi}{2}+\theta\right) = \cos\theta\right)$$

(iv)

$$\text{Let } y = a^{mx}$$

$$\Rightarrow y_1 = a^{mx} \cdot \log_e(a) \cdot m$$

$$\left(\frac{d}{dx} a^x = a^x \log_e a\right)$$

$$\Rightarrow y_2 = a^{mx} \cdot \log_e a \cdot m \cdot \log_e(a) \cdot m$$

$$\Rightarrow y_2 = m^2 (\log_e a)^2 \cdot a^{mx}$$

Similarly; we obtained

$$y_n = m^n (\log_e a)^n \cdot a^{mx}$$

which is required n^{th} derivative.

Solve:

Exercise 8 of $y = (x^2-1)^n$; prove that $y_{2n} = \underline{\underline{(2n)}}$.

Solution: Given that $y = (x^2-1)^n$

By binomial expansion; we have

$$y = x^{2n} - n \cdot x^{2n-2} + \frac{n(n-1)}{2} x^{2n-4} - \dots$$

Differentiating $2n$ times w. r. t. x ; we have

$$y_{2n} = \underline{\underline{(2n)}} \cdot 1 - 0 + 0 - \dots$$

$$\Rightarrow y_{2n} = \underline{\underline{(2n)}}. \quad (\text{Hence proved}).$$